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EfR{H 8,456,872 + 95,072 8,551, 944
EEAGE 8, 456, 872
EERE ‘ 95,072
Z ORI 8,456,872 x 53.85% ( 35% + (1 — 35%) ) - 4,554,025
EBRM 8,551,944 + 4,554,025 - 13, 105, 969
—REREE 13,105,969 "x 53.85% ( 35% + (1 — 35%)°) — 3,533 . 7,054,031

EHmE 13,105,969 + 7,054,031 - ' 20,160, 000)
HEREMELE 20,160,000 x 10.00% 2,016, ooo}
EZ:EFZ N 20,160,000 + 2,016, 000 22,176, 000
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EEEE 8,551, 944
EBImE A 8,551, 944
EEEM ) 8,551, 944
BEEAGE 8, 456, 872
BEEALE 8, 456, 872
1 BESNEROHER - BE 33.00 73, 416 2,422,728 °
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2 BINREEE O - BE RfTRETME - 5.00 139, 296 696, 480
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3 HMIREEE QS - BHE . W& TAESISEMmE! - 20. 00| - 64, 496 1,289, 920
#
4 TETMERDOER - BE 32.00 41,000 1,312, 000
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5 BfirE I ME B DR - BB 32.00| 34,128 " 1,092, 096
#
6 ZESZNEHOER 32.00] 31,064 994, 048|
# .
7 HEE 12.00 46, 400/ 556, 800
H
8 hE - HE 1.00 92, 800 92, 800
Ey
EERE 95, 072
EEREE 95, 072
9 EBRARE 1.00 78, 072 78,072 -
=
10 ZHRERE 1.00 17, 000 17,000
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HEn (A)
A 4.40 51, 200. 00 225, 280
HER (B)
A 9.00 41, 600. 00 374, 400
HER (C)
A 4.10 32, 800. 00 134, 480
=1 5 YEZERESD - 10. 0044 73, 416. 00 734,160
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A (A)
A 6.10 51, 200. 00 312, 320
HEm (B)
A 24. 40 41, 600. 00 1, 015, 040
A (C)
A 2.00 32, 800. 00 65, 600
=1 E {EZEED - 10. 0044 139, 296. 00 1,392, 960
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R (A)
A 3.60 51, 200. 00 184, 320
HEm (B)
A 10. 60 41, 600. 00 440, 960
HEm (C)
A 0.60 32, 800. 00 19, 680
=1 B {EZ£8EH ¢ 10. 0044 64, 496. 00| - 644, 960
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A 2.80 51, 200. 00 143, 360
REm (B)
A 5.70 41, 600. 00 237,120
ER (C)
A 0.90 32,800.00] - . 29,520
\‘% it EZ%8eh - 10. 0044 41, 000. 00 410, 000
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REm (A)
A 2.30| - 51, 200. 00 117, 760
HEm (B) -
A 4.90| . 41, 600.00| . 203, 840
e (C)
A 0. 60 32, 800. 00 19, 680
& 3 feEd - 10,004 " 34.128.00 341, 280
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BEm (A) T
A 1.90 51, 200. 00 97, 280
BE (B) - )
A 3.00| . 41, 600. 00 124, 800
HEm (C)
A 2.70 32, 800. 00| - 88, 560
& & fE2gEH - 10, 004 31,064, 00 310, 640 ]
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% [ g - BT BAfT =y i & H & i &
HER (A) : ’
A 0.50 51, 200.00 25, 600
HEn (B) ,
A 0.50 41, 600. 00 20, 800
& it {EZEREH  1.00= 46, 400. 00| - 46, 400
E5:8
B %53 - e # (1)
% L g - BIRTE ==Fivd = fili & # i s =
& (A)
A 1.00 51,200.00 51, 200
HER (B) 2
A 1.00 41, 600. 00 41, 600
& & fELEES : 1. 005 ‘ 92, 800. 00 92, 800
E5:9
&2 EERARE % (1)
% [z g - BikTiE BAfL = i & #E # g &
EXHARE - .
= 1.00 78,072.00 78,072
= it e85 - 1. 00K 78,072.00 78,072
ES:10
2% EBHRERE £ (1)
% bz g - BIRTE BAfL = fili & 3 i 5 &
EERERE . y
= 1.00] - 17, 000. 00 17,000
& & fEZEES : 1. 005 17,000. 00 17,000,




